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Instructions:

a)  Attempt All the Questions
b) No Calculator is allowed

Q. No. Details Marks | co | BTLO
-, Attempt All the Questions(1 marks each) 40
Q1 In JDBC, 1o execute action sql query _ function/method is used. (Action query 1 Co4 BT1,
means Insert. Update, Delete) * (] (1 Point) BT2
! executeDelete()
axecutsQueny
sxecuteinssn)
xeculaupdate
Q.2 Analyze the following Java program code. 1 L02 gg'
class MyClass { BT4,
int i; BTS
public void MyClass(int j) {
- inti=j;
}
(11T
public class Demo |
public static void main(String[] args) {
MyClass temp = new MyClass(2);
!
L,




is not pubhc. \ ( \\\\
) cause class Demo 15 N0
() It compiles fine. but it does not run becaus |
() Itwill run without any error.
a8 roper constructor.
(L) Ithas a compiletime error because MyClass does not have 3 prop
- \ | i1t constructer,
\_) Ithas a compiletime error because MyClass does not have 2 defsul
. . BT1,
hreadi 1ori and minimum thread 1 co3 BT2
Q3 In threading in Java, the maximum thread priority value is an '
priority valueis -+ (T (1 Point)
l
15
) 110
101
O s
Q.4 Select the correct option wherein integer datatype names are arranged in descending order 1 co1 ];Tz,
of their size.
_/ L leng. shert byta
F, leng. int byte short ;
leng. int short byt
byte shart irt, long
‘-__—____"-‘—'—-—._
; ) . ) ) 5
&2 The datz-type literal value 3.14 in Java is © [0 (1 Point) co1 “—‘—gg.
foat
®
couble
Int
—



In

Java multithreadine « =
threading is achieved by following ways * [ (1 Point)

(1) By
‘1 By inheriting Thread <l ace mx (o
1Ing Thread class angd (2) By implementing Runnable cl3ss

(1) By
Y nhenting Thread class ang (2) By implementing Runnable interface

M E\, inh

enting Threading class and (2) By implementing Run interface

(1) s Por ey o { Il
(1) By inhenting ChildThread class and 12} By implementing Runnable interface

Below are the statements related to static keyword

(1) variables declared as static cannot be used in constructor

(2) static methods cannot use non-static member variables

(3) to initialize static variables there is a provision of static hlock in Java
(4) static methods can be invoked through object-name and class-name

() statement 1.2 and 3 are true

ctatement T and 2 are true

statemert 1.3 and 4 ars trye

What will be the output of the following Java program?
public class Testl |
public static void main(String[] args) {
String myCollege = new String("Navrachana-University");
System.out.print(myCollege.charAt(2));
System.out.print{myCollege.charAt(4));
System.out.print(myCollege.charAt(6));

——
o

Cco3

BT1,
BT2

coz

BT1,
BT2

coz

BT2
BT3,
BT4,
BTS




L) none of these

() vah
H____—Q 9 T ) ted BT,
: To access Relational Databases from Java, - package needs to be imported.
o Javamysqgl
| Javardbms.
() iavadata mysq
Javasql®
Q.10 Below are the statements related to Constructor
1) Constructor is a special function which does not have the same name as the classname
2) A class can have multiple constructors
3) Constructor do not return any type
4) A class can have many default constryctor,
statement | and 4 are valig
) statements 2 and 3 are valid
D statement 1 and 2 are val d
statements 1.2 and 3 are vaic
boonly statement 15 vald
11 illtin the blank in a given code snippet 5o as to-avoid compile time error
F < d Pl
abstract class Tast
{
) int getMarks()-
JomoN Paint)
Luper
absiract




Q.13

oW man Y maximy

—
. ™M numbers of objects can be created fron
L'Dgra'-'""\]l'l\'_]:’ —

1asingle Class in lava
{1 Pt
| .Url"\t;

Which of the following statements are true?
1. A default constructor is provided automatically if no constructors are explicitly declared in the
class.

2. At least one constructor must always be defined explicitly.
3.1t is mandatory 1o define at least one constructor with one argument.
4. The default constructor is 3 no-argument constructor.

Statement 1 and 2
Statement 2 and 3

Statement 1 and 4

Statement

[}

Q.14

Consider follo?ving statements : -
1) abstract class cannot be instantiated

2) abstract class has atleast one abstract method

3) an abstract method when overridden must be defined as public
4) an abstract method can be invoked by class name in which it is declared

staterents 1.4 ang 2 are v3lid

statemient 1 and 4 are vaid

statement 1 and 2 3re valid

coz | BT1,

BTZ

coz

BT2Z,
BT3,
BT4

coz

BT2,
BT3,
BT4




- . . B ; - 3
Q15 On clicking a Swing GUI Button control function is invoked/fired. \
(1 Point)
public void actionPerformed(ActionEvent ae)
public void ButtonPressed(ActionEvent ae)
' public void ButtonClicked(ActionEvent ae)
public void getActionPerformed(ActionEvent ae)
Q.16 Which of the following is not Object oriented programmings concent in Java? coz | BT1,
BT2
Encapsulation
‘:_. Polymorphism
() Inheritance &
_\ Compilation
Q.17 In JOBC, ResultSet. TYPE_FORWARD_ONLY result-set data is slower than Cco4 | BT1,
ResultSet.TYPE_SCROLL_SENSITIVE result-set. * [} (1 Point) BT2
Ealze
True
Q.18 The GUI visible rgclan?J;area wheEe\Eal_c_ontmlsEnE a@glike Buttons, Laals_,‘ o C04 | BT,
BTZ

RadioButtons, TextFields is known as inJava. * [ (1 Paint)




The read method of FileinputStream returns
single character from a file.

char

float

Q.20
Consider following statements and choose the correct option

(2) Interface provides place-holder for methods to be inherite
13) Methods declared in interface and abstract method in abs
its child class

statement 1.2 and 3 are true
anty statement 215 true
statement 1 and 2 ars true

statement ' and 3 e true

(1) Java supports multiple inheritance under the hood through the use

JE—
Ble

Q21 Variables declared in interface are -

protected. static and final cnly
{1 public, statc 3nd final anly
_ publiconly

I public and static anly

after scanning/reading BT2
- 1 coz | BTZ,
BT3,
of interface BT4
dto class

tract class must be overridden in
1 c03 | BT1,
BT2




Q.22

Q.23

class Test
{
int show(int x) { return 100; |
}
class Exam extends Test class Exam extends Test
{ {
int show{int y) { return 200 ; ) int show() { return 200 ; |
' }
() Opben 3 Option 2
class Exam extends Test )
( Flass Exam extends Test
void showi }{ System.out.printin("0K"); | void showdint v, int ¢} | System.out printin{"OKC"); |
_) Opuion *

In multithreaded environment. to syncnorize thread.
@ (1 Point)

synchronaing

keyword must be used. -




Match the followings in context ¢
Al Runtime Paly :1:.‘_-1!'11\---
existing classes

(B) Py ite access mod ter
declaring class

(&} Compile -time polymorphism

(DY Inhentance

M OOP ¢ ."\“*I'f\

1 OOP faature which allows us todefy

) The data or methods an be accese

G

1 101s achieved by Method Overniding

e new classes T

dondy by 11

15 als0 known as static polymorphiun

Q.25

WAL} (B)-(2) (C(3) (D)1}

(A{3). @)-(2), {O)-{1) (D)-(4)

(A)-(4). (B)-(3} (1) (OY-(

implements-extends

extends

implements

inherit

Q.26

Final keyword is used to
(1) To declare class read-only

(2) To declare variable read-only

(3) To prohibit class for inheritance
(4) To prohibit method for overriding

' anly 115 true

[ All are true

. Poonly 2.3 znd 4 are trus
B J

To inherit one interface to another interface o

L\l‘\‘\\'\\fti s usedd

o

ol

.,
i,
1

nri,
wre

B12,
BT3,
BT4



p declaration is not valid?

D2 Which of the following Java "for” oo |
. b~
for (int number = 10: number <= 80: number += 0)
¢ ) for (int number = 20; number >= 1: --number }
() for (int number = 99: number >= 0; number / 9)
) for (int number = 2: number <= 20: number = 2~ number )
Q.28 Following statements are related to Swing components of Java CO4 | BT2,
(1) Swing component uses Event Delegation Model to handle Databases. BT3,
(2) Swing components are purely coded in Java. BT4
(3) Swing components provide uniform GU! interface across different Operating System
environments.
(4) Swing components are best alternative to AWT components. = [ (1 Pont)
| Statements (1), (3) and (4) are true .‘
'j\l All are true
[ Statements (2], (3) and (4) are true
Statemants (1) and (4] are true
Q.29 . : :
n ’DBC., DbJEEt‘ of Prepan.adStatement is faster than Statement Object as Statement Co4 | BT1,
object is compiled everytime though the same query with different parameter is used. et
! _' False
ITue
Q.30 —
co1 i2,
BT3,
BT4,

BTS5




— public class demo {

% If Predict output of fo1lowing program

public static void main(String|) args) {
int num=100, sum=0;
switch(num)

case 30:

SUM = sum + num;
case 10;

sum = sum + num;
case 20:

SUM = sum + num;
default:

}

System.out.prlntln(summum‘(Int)3.4};

Sum = sum + num;

}
}

O 400
) 300

1100

Q.31 - -

Co1 | BTY,
BT2
h—.___,_l—-____,_



Q.32

Q.33

Q.34

Q.35

Choose the invalid option with respect to advantages of Object Oriented Programming
00se the invah ption with respe 0 ag g

(1 Point)

Object Onented Programming paradigm focuses on reusabiity
Function and Data are not tied together
Emphasis on Data. rather than Procedure

) Modular structure of program

Which will legally declare, construct, and initialize an array in java 7

() int[] myList = {"1" "2 “3°)
() int myList ] = (4. 3. 7):
() int myist {1 [ = (4.9.7,0)

() int [ mylist = (5. 8, 2):

keyword is used to allocate memory for arrays and objects in
Java,

[} static
" final
New

U othis

Under Java, creating an object from a class is also known as .

! Interfacing
[} Instantiating

Initializing

Nene of these

€01 BTZ,
| BT3,
. BTy,
| BTs5
€02 | BT1,
BT2
o2 [r-
B




p- *
2 Select the correct syntax for declaring a class in Java programming * | 1 | €02 ::;,
/
CLASSNAME class )
. class CLASSNAME {}
class CLASSNAME: {}
|
!
. . ¢+ Class CLASSNAME [
| : ) I|
| Q.37 Which of the following method of class String is used to obtain a length of a String object 7 1 C03 | BT1,
I ort 3 \ BT2
M (1 Point)
lengthofi)
") lend
‘ ' getd
) Sizeoff)
() None of these
. . T . 1 | co3 | BTZ
A Fill the missing line in the following code BT3.
String s6="one:two:three:four:five:six": BT4,
BTS
for(String st:strarr)
{
System.out.printin(st};
Y 1) (1 Point)
‘ . String strarr| =st.split{""»

i String strarr=s3.split():
@ String strarr[J[I=s8.sphit(":"):

String strarr]=sé.sphtd:




Q.39

Q40 |

T

Following statements are related to Streams in Java
(1) Streams are Unidirectional

(2) Based on single unit of data, Java has Byte based and Character based streams

(3) if data flows from Input device towards Java program then such stream is called
InputStream

(4) If data flows from Java program towards output device then such stream is called
OutputStream

Statements 2 3 anet 4 are true
Al are trye
All are false

B Statements 1 3 and 4 are true

Statements 1 and 2 are trye

In threading —_ methods ensures that. the main thread ends 4t |

child thread have completed their process. = (1} (1 Point)

ast, afler all the

) Joing
() sleepp

L) currentStatusq

‘ getPriority()

t*i**‘ttmt*#End OfQUeSﬁOI"I Paper*tut-*xtt.tt

| cox T BTZ,
‘B T3 '
BT4

co3

BT2,

b
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